GYMNASE DE BURIER

MATHEMATIQUES

Factorisation IV

2C

Révision 1 : Factoriser au maximum

a) 3z + 3z —36

b) 362° — 4822 + 16z

c) 322 +2—10

d) 3z —2)(2x —5)? — (2x —5)3
e) 5x3 + 3022 + 60x + 40

f) 23 — 2% -4z +4

g) 72?4 63z + 98

h) 2723 +8

Révision 2 : Factoriser au maximum

a) 2%+ 227 — 24

b) 28 4+ 2% —22 -1

¢) 200022 — 100z — 1200
d) 2523 — 2002 + 17522

e) 8x3 4 5622 — 321 — 224
f) 2* — 5022 + 625

g) —8lz* + 3z

—zt 423+ 8z -8

(x —3)% — (22 — 5)?
622 — Tz —5

23 + 4o — 12 — 322
224 — 523 — 822 + 20z
2% — 64

—4z* + 402 — 10022

522 — 5x + 10

2 (z —3)% + 4(x — 3)3

229 — 624 + 622 — 2

—5623 — 13222 4 202

(3z +2)7(2% — 1)3(15x + 10)?

Bz +5)(2?2—1)— (1 —2H)(2z+7)
27 — 392 — 1022

28 — 729



Révision 1 (réponses)

a) 3(z +4)(z — 3)
b) 4z(3z — 2)?

¢) (3z —5)(z +2)

d) (2z —5)%(z + 3)

e) 5(z+2)3

f) (z—1)(z+2)(x —2)
g) T(x+T7)(x+2)

h) (3z +2)(922 — 6x + 4)

Révision 2 (réponses)

a) 2(z +12)(z — 1)

b) (22 4+ 1)%(z +1)(z — 1)
¢) 100(5z — 4)(4x + 3)

d) 25z (z + 8)(z — 1)

e) 8(z +7)(z +2)(z — 2)
£) (z+5)2(x —5)2

g) —3z(3x — 1)(92% + 32 + 1)

i) —(z—1)(x—2)(2%+ 2z +4)

j) Bz —8)(z —2)
k) (3x —5)(2x + 1)
) (z—3)(x2+4)

m) z(2z —5)(z +2)(z — 2)

n) (r+2)(z? — 2z +4)(z — 2)(2? + 22 + 4)

0) —4x%(z +5)2

p) 5~ +2)

h) (z—3)%(z +6)(z — 2)
i) 2(x+1)3(z—1)3

j) —4z(7z —1)(2z + 5)

k) 253z +2)%(z +1)3(z — 1)3

) (z+1)(x—1)(bx + 12)

m) —(2z+9)(5z —3)

n) (x4 3)(z? - 32 +9)(z — 3)(z? + 32 +9)

GIL



